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QUESTION 1

You administer a Data Guard environment consisting of a primary and three physical standby databases. 

One physical standby database is used for disaster recovery, one is used for reporting, and one is used as a replica for
testing. 

The standby database used for testing is occasionally converted into a snapshot standby database and then converted
back to a physical standby. 

The physical standby database is the only standby that is a mandatory destination 

The broker configuration operates in MAXIMUM PERFORMANCE mode. 

Which ARCHIVELOG DELETION POLICY should be set. so that archive logs generated on the primary database are
not deleted before they are consumed appropriately on each of the standby databases, but which allows them to be
deleted form the primary as soon as it is safe to do so? 

A. CONFIGURE ARCHIVELOG DELETION POLICY TO APPLIED ON ALL STANDBY 

B. CONFIGURE ACHIVELOG DELETION POLICY TO APPLIED ON STANDBY; 

C. CONFIGURE ACHIVELOG DELETION POLICY TO SHIPPED TO ALL STANDBY; 

D. CONFIGURE ACHIVELOG DELETION POUCY TO SHIPPED TO STANDBY, 

E. CONFIGURE ACHIVELOG DELETION POLICY TO NONE; 

Correct Answer: B 

 

QUESTION 2

Which two are true about offloading backups to a physical standby database in a Data Guard environment? 

A. The standby database must be registered in an RMAN catalog after the primary database has been registered 

B. The standby database cannot be registered in an RMAN catalog if the primary database has not been registered 

C. Backups of the standby control file taken while connected to the catalog where the database is registered, may be
used to restore the control file on the primary database. 

D. The standby database must be registered in an RMAN catalog before the primary database has been registered 

Correct Answer: BC 

 

QUESTION 3

Examine this command executed on a physical standby database to transition it to a logical standby database: 

SQL> ALTER DATABASE RECOVER TO LOGICAL STANDBY prodlgsby; 
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Which statement is true regarding the execution of this command? 

A. FLASHBACK is automatically enabled when transitioning to the logical standby database. 

B. The Managed Recovery Process (MRPO) continues applying redo up to the SCN immediately preceding the redo
corresponding to the LogMiner dictionary build. 

C. Supplemental logging will be enabled on the logical standby database when the physical database is transitioned to
the logical standby database. 

D. SQL apply is automatically started when transitioning to the logical standby database. 

E. It will automatically start redo apply. 

Correct Answer: E 

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28294/create_ls.htm#i75998 

 

QUESTION 4

Examine the Data Guard configuration; 

What can you conclude based on this error? 

A. Cats is a snapshot standby database 

B. The redo transport mode is set to ASYNC for the standby database Sheep 

C. The redo transport mode is set to ASYNC for both standby databases 

D. The redo transport mode is set to ASYNC for the standby database Cats 
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Correct Answer: B 

 

QUESTION 5

You edit the DGConnectldentifier database property using the edit database set property DGMGRL command Which
two are effects of this change? 

A. The fal_client database initialization parameter on all standby databases is updated with the new value. 

B. The service attribute of the log_archive_dest_n initialization parameter for any database referring to the specified
database is updated with the new value. 

C. The fal_client database initialization parameter for the specified database is updated with the new value 

D. The broker configuration must be disabled and then enabled to use the new connection property. 

E. The service attribute of the log_archive_dest_n initialization parameter referring to all standby databases is updated
with the new value 

Correct Answer: AB 

1Z0-066 PDF Dumps 1Z0-066 Practice Test 1Z0-066 Braindumps

Powered by TCPDF (www.tcpdf.org)

1Z0-066 PDF Dumps | 1Z0-066 Practice Test | 1Z0-066 Braindumps                                4 / 4

https://www.passapply.com/1z0-066.html
https://www.passapply.com/1z0-066.html
https://www.passapply.com/1z0-066.html
http://www.tcpdf.org
https://www.passapply.com/1z0-066.html
https://www.passapply.com/1z0-066.html
https://www.passapply.com/1z0-066.html

